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sTe eTa : 3.00 werfl Gprw ] [ Qurés wHltludgmrser = 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

sdeenrsen : (1)  o@ardg clamssEno sflwrs LHeTS 2 ETaTST GraTLISEmET euﬂurrr'rg';@efs
Qararareyid. eiFsliLdefd @apudminder, SN SaTarantaumaTilb
o Langwnss gflellésa).

) Beod  widemy  smUY  @wulomar wHGW a@@mgmgm,
=15 5CasTEHaushGn Lwau(ES Couam(HD. UL MBISET cUaTUSDES
Quenéléd LweTuBHSSeL.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

LGS -1 /PART -1
GOy : () eSS efilenrés@pb@h cileniwalldaa|, 15x1=15

(i) GarhHasnuferen I 11681 (&) L0 1T DT dlengafldr Waabd e w
o wwi Caibs®sgsd @MU doclaayd Carss
Cr(pgeuyLD.

Note : (iy  Answer all the questions.

(i)  Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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N

POST -e1 efifleun&sid :
(<) Post on Self Test
(&) Power on Self Test
Expand POST :

(a) Post on Self Test (b) Power on Software Test
(¢) Power on Self Test (d) Power on Self Text

(<,) Power on Software Test
(rF) Power on Self Text

@0 SCrenul ereiiLg) aTHSMmET UL (HEmaTd QsmerLg) ?

(<=1) 1000 (<=1) 8 (@) 4 (FF) 1024
How many bytes does 1 kilobyte contain ?
(a) 1000 (b) 8 € 4 (d) 1024

GeeumeuareubmieT 6rg HISTAFLIG6T LTESD e ?
(=) senfls greams Qewesid (=) sLGUur’ s
(®) Gs& Heovaeusid (FF) wdCGeul®

Which of the following is not the part of a microprocessor unit ?
(@) ALU (b) Control unit

(c) Cache memory (d) register

dlensen erhg cuens Camliy Geramenani vwetuhEs1$ng ?

(<) extz (<=,) NTFS (@) FAT () NFTS
The file management system used by Linux is :

(@) extz (b) NTFS () FAT (d) NFTS

e GLmen LweTuriige Gariiygser QarLrfleowrs aps Csriiyemnudd
Callssuu@mm ?

(1) My Document

(<2,) My Pictures
(&) Document and Settings

(Fr) My Computer
Which is the default folder for many Windows applications to save your file ?
(a)

My Document (b) My Pictures
(c)  Document and Settings (d) My Computer
EQ&aTEnID DL &G THHMET (e QUIkiGD ?
i:=10
whilei#5
ii=1+41
(<24) 4 (<) 5 (&) 6 (/) 0
How many times the loop is iterated ?
ir=0
while i # 5
ii=1i+1
(@) 4 (b) 5 ) 6 (d) 0
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11.

12,
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Qeraumd Gewup@hsailer CHen grey mirliy Qeawn@ erg ?

(=1) >> (<) << (@) < (rF) A
Which of the following operator is extraction operator in C++ ?
(@), . 2> (b): - (© <> (d 7

Weraumd Qeup@haaia g srelamiseailear <erameus smens ?

(<=1) sizeof() (<2p) int() (&) long() (7)  double()
Which of the following operator gives the size of the data type ?
(a) sizeof() (b) int() () long() (d) double()

YereumeuareupmieT org CQeuallGuped Gerdlliy wLdE ?

(=) for (<=1,) while (®) do...while (rF) if...else
Which of the following is the exit control loop ?
(a) for (b) while (c) do...while (d) if...else

20 GHlupma TWss LHNID CTET UME T DG & me T RTINS
sflumiés 2 goyb QFwhseay et ?

(<) isalpha() (<24,) isdigit() (@) isalnum() (rF) islower()
Which function is used to check whether a character is alphanumeric or not ?
(a) isalpha() (b) isdigit() (c) isalnum() (d) islower()

int age[ ]={6, 90, 20, 18, 2}; Q)5 efuild arssmen 2 mlisar o crarar

(=21) 2 (<) 5 (&) 6 (/r) 4

int age[ ]={6, 90, 20, 18, 2J; How many elements are there in this array ?

(@ 2 (b) 5 () 6 (d) 4

R0 POD TWHSD ULWD LWL DS S B0 o i DL
e 585 st gpaw Hleop Gauppiy
(<21) srey Wensenio (<=4) LOMILIWIGTITE &LD

() wrppw

() Qan@ssea

“Write : e | iple time’
once and wuse it multiple time” can be achieved by :

(a) redundancy

(b)  reusability
(¢) modification

(d) composition
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13, aaluQuird cmainddaad anflurs o_dipenipuiab, deuaflGuipa)b, sbléameysmamer
savsranflasayd, sU(HUUBHGEHa|D aend Fieug) :

() @&daan (<21,) paablya
(rr)  eurfriben

A computer network security that monitors and controls incoming and outgoing traffic is :

(@) vwiaurd

(@) Cookies (b)y  Virus
{©)  Firewall (d)y  Worms
1. deaimaaapnd ag QewupammsErse Capul Qurmer 2 dreramgs
Gh&Epg 7
(=) Qewpsany vetib@uy (<21) 2mitiy uenflbl@Guy
() QewpeN uelBlgly () Qewpur® wemflblELliy
Which of the following refers to a function having more than one distinct meaning ?
(@) Function overloading (b)  Member overloading
{c) Operator overloading (d) Operations overloading
15,

wryfliod dswagpepuid ydHu Gers@w adalmbs e (heaursstuBSns ?
(=) Digliven. Qed @ (P (<)) <A(HEULDTESLD

(&) smellestiulL. Qe (p (FF) Gewmenm

Inheritance is a process of creating new class from :

(a) Base class (b) abstract

(c) derived class (d) Function

u@S - 11/ PART - 11
G@Hlly : aemeuCuead gmi clenmésEpsd oL walésan. Seuphlad e erar
24 -6 sL_Lmuwng ol wallEsab.

6x2=
Note : Answer any six questions. Question No. 24 is compulsory.

16. safly grens Dswasgdlan (ALU) ewdur® wrg ?
What is the function of an ALU ?

17.  Glgmii ailflaanen erpg)s.

Write the associative laws.

18, 2wl auenwenn Lag g Gleotpstb (HDMI) eresimmed eremen ?

What is HDMI ?
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19.

20,

21.

22,

24.

Xl -JULY 2024

UUEUTESID cTImTa) 6remes ?
What is known as Mullitasking, ?

setw() aulgeUenOLIL enswmend Clewipaadlen Liwes eremen ?
What is the use of setw() format manipulator ?

strlen() Qswpaacnp LUDH 6T,

Write about strlen() function.

Qmuflores wafleow @Mells@n Cgrflwed wrg ?

What is the syntax to declare two-dimensional array ?
vell@mEs Wiwng Qewup@dlsamarts UL igwel(Hs.
List the operators that cannot be overloaded.

Write a while loop that displays numbers 2, 4, 6, 8 .......... 20.

L@ - 111/ PART - III

2,4,6,8 ... 20 eraop Qi auflengens 2i&lHougpsTen while L EDS 6T(LDEIS.

GOy : gsneugl ym| AamssEnsd el wailEsea. Sleubded el erawm 33 -&(&

sLU_Lmuwng eleL weflésa|.

Note : Answer any six questions. Question No. 33 is compulsory.

26.

27.

28.

29.

lg. omi&em CHODBIGENET 6T(LHGIS.
Write the De Morgan’s Laws.

greflen iereeaus QuIMES Biamelauaenu s ILDSSIS.
Classify the microprocessor based on the size of the data.

geneny (efanGlLmev) Henqullen smmaamarts LHdl GO aueys.
Write a note on the elements of a windows.

main() Qewpenplen i) wrg ?

Why is main() function special ?
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30. Switch spfledt SLL_enerd Qgmieny Gr(pd DUBET LIWLIGTSENET UL g wied (Hs.
Write the syntax and purpose of switch statement.

31 C++ Qumflufiéd 2 eer pow() Qewmeam LbB Hm GHLY cuers.

Write short note on pow() function in C++.

32. @@ sLOmelen e miLsamer Greéueumn @S (Wig b ? a@gﬁ@é;é;rrL@ &(H.

How to access members of a structure ? Give an example.

33. Qar@ssiiul L erarenien QumSsL eumiiuT_enL @qééﬂ@ﬁi C++ 'lﬂlrd) QRETEM
CT(LDEIE.

Write a C++ program to print multiplication table of a given number.

U@&3! - IV / PART - IV
GSPILY : Siemendg NamésEnsEh edan welssaib. 5x5=25
Note : Answer all the questions.

34. (=) semlLGurdluder LOGeum senawenpamar eflarsEs.

S|60605)

(=) () &L (s : 1101010, + 101101,
i) s0&s : 1101011, — 111010,

(a) Discuss the various generations of Computers.

OR
() () Add:1101010, + 101101,

(i) Subtract: 1101011, — 111010,

35. (=) ROM -éim cuenggenerls LD eNeTH&EONG 6T(LHSIs.

S6V60F)
() 20 Qués YopowssTa LLET QL Pssas 2 Haurs GwGurg
sauaigdleor Qamerer Couamgws WP&HW SHSHESEaT UL ig wedl (s,
(@) Explain the types of ROM.
OR
List out the points to be noted while creating a user interface for

(b)

an operating system.
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36.

2
~1
.

38.

Xl - JULY 2024

7 18472 ]

(=) efemGrmed Quiss e Ner Loeeswrer LSLsanar ailauflsaan
LNV
(=) Siguiuen. aumfeaemen oigen Gareneu wHOID GO IquigyL 6 6ileTHEs.
(@) Explain the versions of Windows Operating, System.
OR

(b) Explain the fundamental gates with expression and truth table.

(=) mewey Gendlluy wL&E eramrd cranar ? FEERUD Qb HIOLeY Gerdliy
LLGDEs QUImSSLTE THSHGFTHLT 6ilemsEs.
360608
() @ W eTexrenent CUDHD ADS genadiprs WIHOD CEULD HFeQ o (pgis.
(a) What is an entry control loop ? Explain any one of the entry controlled loop with
suitable example.
OR

(b) Write a program to accept any integer number and reverse it.

(=) Qumener Cpréd Bronsssslen HETEDLDEET Wrenay ?
ALV
(c23,) QEwp@ED Leflifigudnarer clfepenpsar wreai ?

(a) Whatare the advantages of OOPs ?
OR

(b) What are the rules for operator overloading ?

~00o0-
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